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(



:1

10 1 1 12+ + =
5 1 1 7+ + =
2 12 7 2 19 38´ + = ´ =( )

1

1

1

1

متر 5

متر10

18 9 9 4 5 4 5 45+ + + + =/ / oT¶



( , ) ( , ) ( , ) ( , )1 2 1 3 1 4 1 5 4- - - Þ S²Ie

( , ) ( , ) ( , )2 3 2 4 2 5 3- - Þ S²Ie

( , ) ( , )3 4 3 5 2- Þ S²Ie

( , )4 5 1Þ S²Ie

1

2
3

4

5

4 3 2 1 10+ + + = S²Ie

1 2 3, , ,



                                                                                         

5 100 500´ =

4 100 2 50 500´ + ´ =

3 100 4 50 500´ + ´ =

2 100 6 50 500´ + ´ =

1 100 8 50 500´ + ´ =

10 50 500´ =

1 1 70 72+ + =  
1 2 35 38+ + =  
1 5 14 20+ + =  
1 7 10 18+ + =  
2 5 7 14+ + =  

0 1 2 3, , , ,



 
 

1 4 7 10 13, , , , , , ,

+3 +3 +3 +3 +3 +3 +3

16 19 22  

1 4 9 16
¯ ¯ ¯ ¯ ¯ ¯ ¯
1×1 2×2 3×3 4×4 5×5 6×6 7×7

25 36 49, , , , , ,  

64 32 16 8, , , , , ,

÷2 ÷2 ÷2 ÷2 ÷2 ÷2

4 2 1  

 (2) شكل  (3) شكل  (4) شكل  
IÀïSÄoL¨ J¼a  jHk÷U ®§{  â½nIμ{: ´ -3 2

´Àj  ®§{  ÁIÀïSÄoL¨ J¼a  jHk÷U : 10 3 2 30 2 28´ - = - =

(1) شكل  (2) شكل  (3) شكل  

Â«ºn  ÁIÀïÍMo¶  jHk÷U ®§{  â½nIμ{:
kÃÿw  ÁIÀïÍMo¶  jHk÷U ®§{  â½nIμ{ )

®ÃõTv¶  Ï¼ö

: (2 1´ + ´� ��� ��� 33
¯
- ®§{  â½nIμ{                                       

®ÃõT
↘

vv¶ Æoø Â«ºn ÁIÀïÍMo¶

´z{  ®§{  Â«ºn  ÁIÀïÍMo¶ jHk÷U : 6

´z{  ®§{  kÃÿw  ÁIÀïÍMo¶ jHk÷U : ( )2 6 1 3 6 39 6 33

13

´ + ´ - = - =���
6

33 6

6

39

2

13+
= =



Parking

2 10 3 10 50´ + ´ =

2 11 3 9 49´ + ´ =

2 12 3 8 48´ + ´ =

2 13 3 7 47´ + ´ =

2 14 3 6 46´ + ´ =

2 15 3 5 45´ + ´ =

10 30 40 90+ = ¹3 10 30´ =

15 45 60 90+ = ¹3 15 45´ =

20 60 80 90+ = ¹3 20 60´ =

25 75 100 90+ = ¹3 25 75´ =

0

90

22 5/ 3 22 5 67 5´ =/ / 22 5 67 5 90/ /+ =
3 10 31´ + =

3 10 10 40´ + =  

3 9 10 37´ + = 3 8 10 34´ + = 3 7 10 31´ + =

5 3000 15000´ =

15000 2 30000´ =
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7 5/
12 5/

 

 

157 8/


